—RERYOLECET IERICRLITHRIR MHEE

E

B FH31448 1 B
E 4f 24£3H31H

)

[#%HFEIS]

[EHRA] (Bl . M)
1. WNBRE
(1) A& 73,382
(2) HHEF 242,999
(3) BE&EA 0
& & 316, 381
2. EEER
(1) A& 27,995
(2) &S 22,850
(3) BEER 0
(4) TOMEBEER 54
& & 50, 899
#® ] 1T ) = 3 b a 367, 280
i3 23 24 £ ( % )
€30k
1. FERARRUCFHEH
(1) fEES - O—ILHRFTIA 25, 365
(2) EERACHFHER 15,138
(3) zoith 0
& &t 40, 503
2. WEEFERA
(1) BREXHE BEEEHDESS) 0
(2) [—HEHAEFITREAFNIES NERUHSEERE) 0
(3) Zonih 0
& &t 0
3. ZOith
(1) BRYFFTIRA 11,477
(2) TEHFRA 0
(3) zoith 180
& &t 11,657
# i g 23 & & b 52,160
b/ a (%) 14. 20%
E = :I ) _.’ﬁﬁ # . ® 1T B := 3 |; 315, 120
[EHNARA]
1. BEEA
(1) #HENBLE (BH - HRE) 0
(2) Z0ih 0
& & 0
2. ZOfth
(1) KEREVNERERE 0
(2) BEERSTHE 0
(3) Zonith 0
& & 0
# & EAS # & &t 0
[EH M REE]
1. MEREHEEBEFIA
(1) BREXHE (EHEHEDS) 0
(2) [—HMEFMEEITRANIES (EH - HRE) 0
(3) Znih 0
& &t 0
2. ZOoit
(1) KEREYLER LG 0
(2) BEFTIHR 0
(3) zoith 0
a & 0
# L koS i a & 0
C( = . 5l )( i J 17 a . 3 )I~ 315,120




